
A1

The weather is ________ today.

Answer: ___________________

It is ________ raining outside.

Answer: ___________________

The wind is blowing ________.

Answer: ___________________

The sun is shining ________.

Answer: ___________________

It is ________ hot outside.

Answer: ___________________

The rain is falling ________.

Answer: ___________________

The snow is falling ________.

Answer: ___________________

The temperature is ________ dropping.

Answer: ___________________

The clouds are moving ________.

Answer: ___________________

The storm is coming ________.

Answer: ___________________



Answers

The weather is ________ today.

Answer: sunny

It is ________ raining outside.

Answer: heavily

The wind is blowing ________.

Answer: strongly

The sun is shining ________.

Answer: brightly

It is ________ hot outside.

Answer: extremely

The rain is falling ________.

Answer: steadily

The snow is falling ________.

Answer: lightly

The temperature is ________ dropping.

Answer: gradually

The clouds are moving ________.

Answer: swiftly

The storm is coming ________.

Answer: quickly


